

MS. REYZ PASCUAL
471 PEARL ST. VIOLERTA SBD, BINANG 2ND BOCAUE BULACAN
TEL#: 0917-8840280

Dear Ma'am/Sir,

Kolin Marketing Inc., is extremely honored for your endorsement of Kolin brand and we are please to offer you with a special price/s for the following items.

A. EQUIPMENT & INSTALLATION

QTY	U/M	MODEL / DESCRIPTION	SRP	DISCOUNTED PRICE		AMOUNT
15	UNIT/S	MODEL: KL-IF60-G6H1M32 KOLIN FLOOR MOUNTED AIRCONDITIONER 58,140 Kj/h (5.0TR) FULL DC INVERTER R32 SINGLE PHASE	165,995.00	112,156.20	PHP	1,682,343.00
2	UNIT/S	MODEL: KLG-IF40-5G1M32 KOLIN FLOOR MOUNTED AIRCONDITIONER 37,980 Kj/h (3.0TR) FULL DC INVERTER R-32 SINGLE PHASE	113,195.00	79,028.20	PHP	158,056.40
4	UNIT/S	MODEL: KSG-IWF-30WFY-8K1M32 KOLIN WALL MOUNTED PRIMUS GOLD AIRCONDITIONER 29,500 Kj/h (3.0HP) FULL DC INVERTER W/ WIFI R-32	76,595.00	51,212.20	PHP	204,848.80
TOTAL	UNIT COST				PHP	1 2,045,248.20
ESTIMATED COST OF INSTALLATION (please see attached)					PHP	/ 396,400.00
TOTAL ESTIMATED COST OF THE PROJECT					PHP	, 2,441,648.20

TERMS OF PAYMENT:

FULL PAYMENT OF UNIT AND DELIVERY CHARGE. IF CHECK, SUBJECT FOR 3 DAYS CLEARING.

WARRANTY:

FOR FLOOR MOUNTED: ONE (1) YEAR FREE PARTS AND LABOR, FIVE (5) YEARS WARRANTY ON COMPRESSOR. FOR SPLIT TYPE: ONE (1) YEAR FREE PARTS AND LABOR, THREE YEARS (3) MAIN PCB , TEN (10) YEARS WARRANTY ON COMPRESSOR.

NOTES: PRICES ARE SUBJECT TO CHANGE WITHOUT PRIOR NOTICE.

PRICES IS VAT INCLUSIVE.

- ** Cost of Installation is Package with the Unit(s), this cost cannot avail separately.
- ** INSTALLATION C/O ASP (cost will be based on actual)

We thank you for giving opportunity to offer our product and services, hoping we receive your purchase order.

If you need assistance, don't hesitate to call the under signed at 0917-807-8607 or email at kmi_asst@kolinphil.com.ph

Very Truly Yours,

JANELLEN S. NM KMI-ASSISTAN

Noted by:

MART NATIHANISER FLORES

KMI-SUPERVISOR

KMI-QUOTE-05-25-0373 ECY-24%/14K/7K Approved By

MS. EDITHA M. FLORES AVP FINANCE

Conforme:

SIGNATURE OVER PRINTED NAME

Kolin Marketing, Inc.

1854 Sta. Rita St., Guadalupe Nuevo, Makati City

Tel.: (632) 8852-6473

Fax: (632) 8852-2170 / (632) 8852-4792

www.kolinphil.com.ph / kolinphilippines







QUOTATION

	Design the second secon	
Quotation No.	2400033	
Date	05 10 2025	
Terms		
Installation date		
Technical Mgr.	Resty G Mutuc	

Kings Aire Ref and Aircon Services

421 Pulilan National Rd.Brgy. Sto Cristo Pulilan Bulacan

TEL# 044-794-0321

044-326-0923 / 0999-449-2628

Email: kingsaire@yahoo.com

AIRCON Installation Quotation

Ship To

Bill to

PAVILLION

ITEM	QTY	U/M	PARTICULARS	UNIT	COST PHP	AMO	UNT
1	13	UNITS	INSTALLATION OF 6HP FLOOR MOUNTED (PAVILLION)	PHP	12,500.00	PHP	162,500.00
2	30	FEET	EXCESS PIPE FOR 6HP FLOOR MOUNTED (Pavillion 1)	PHP	600.00	PHP	18,000.00
	22	FEET	EXCESS PIPE FOR 6HP FLOOR MOUNTED (Pavillion 6)	PHP	600.00	PHP	13,200.00
	23	FEET	EXCESS PIPE FOR 6HP FLOOR MOUNTED (Pavillion 8)	PHP	600.00	PHP	13,800.00
	6	FEET	EXCESS PIPE FOR 6HP FLOOR MOUNTED (Pavillion 13)	PHP	600.00	PHP	3,600.00
	44	FEET	EXCESS PIPE FOR 6HP FLOOR MOUNTED (Pavillion 9)	PHP	600.00	PHP	26,400.00
	32	FEET	EXCESS PIPE FOR 6HP FLOOR MOUNTED (Pavillion 7)	PHP	600.00	PHP	19,200.00
3	35	FEET	ROYAL CORD FOR 6HP FLOOR MOUNTED (Pavillion 1)	PHP	100.00	PHP	3,500.00

				TOT	AL	PHP	288,400.00
4	13	UNITS	BREAKER	PHP	1,000.00	PHP	13,000.00
	37	FEET	ROYAL CORD FOR 6HP FLOOR MOUNTED (Pavillion 7)	PHP	100.00	PHP	3,700.00
	49	FEET	ROYAL CORD FOR 6HP FLOOR MOUNTED (Pavillion 9)	PHP	100.00	PHP	4,900.00
	11	FEET	ROYAL CORD FOR 6HP FLOOR MOUNTED (Pavillion 13)	PHP	100.00	PHP	1,100.00
	28	FEET	ROYAL CORD FOR 6HP FLOOR MOUNTED (Pavillion 8)	PHP	100.00	PHP	2,800.00
	27	FEET	ROYAL CORD FOR 6HP FLOOR MOUNTED (Pavillion 6)	PHP	100.00	PHP	2,700.00

BRIDE'S ROOM (OPTION 1)

ITEM	QTY	U/M	PARTICULARS	UNIT	COST PHP	AMO	UNT
1	1	UNIT	INSTALLATION OF 4HP FLOOR MOUNTED (BRIDE'S ROOM)	PHP	9,500.00	PHP	9,500.00
2	22	FEET	EXCESS PIPE FOR 4HP FLOOR MOUNTED (BRIDE'S ROOM)	PHP	400.00	PHP	8,800.00
3	27	FEET	ROYAL CORD FOR 4HP FLOOR MOUNTED (BRIDE'S ROOM)	PHP	100.00	PHP	2,700.00
4	1	UNIT	BREAKER	PHP	1,000.00	PHP	1,000.00
				TOT	AL	PHP	22,000.00

GROOM'S ROOM (OPTION 1)

ITEM	QTY	U/M	PARTICULARS	UNIT	COST PHP	AMO	UNT
1	1 ,	UNIT	INSTALLATION OF 4HP FLOOR	PHP	9,500.00	PHP	9,500.00
			MOUNTED (GROOM'S ROOM)				
2	20	FEET	EXCESS PIPE FOR 4HP FLOOR	PHP	400.00	PHP	8,000.00
			MOUNTED (GROOM'S ROOM)				
3	25	FEET	ROYAL CORD FOR 4HP FLOOR	PHP	100.00	PHP	2,500.00

		MOUNTED (GROOM'S ROOM)				
1	UNIT	BREAKER	PHP	1,000.00	PHP	1,000.00
			TOT	٨١	PHP	21,000.00
	1	1 UNIT		1 UNIT BREAKER PHP	1 UNIT BREAKER PHP 1,000.00	1 UNIT BREAKER PHP 1,000.00 PHP

KITCHEN

ITEM	QTY	U/M	PARTICULARS	UNIT COST PHP	AMO	JNT
1	2	UNIT	INSTALLATION OF 3HP WALL MOUNTED	PHP 8,500.00	PHP	17,000.00
2	2	UNIT	BREAKER	PHP 1,000.00	PHP	2,000.00
				TOTAL	PHP	19,000.00

CHAPEL

ITEM	QTY	U/M	PARTICULARS	UNIT	COST PHP	AMO	UNT
1	2	UNIT	INSTALLATION OF 6HP FLOOR MOUNTED	PHP	12,500.00	PHP	25,000.00
2	2	UNIT	BREAKER	PHP	1,000.00	PHP	2,000.00
				тот	AL	PHP	27,000.00

CR 1 & 2

ITEM	QTY	U/M	PARTICULARS	UNIT COST PHP	AMOUNT
1	2	UNITS	INSTALLATION OF 3HP WALL MOUNTED	PHP 8,500.00	PHP 17,000.00
2	2	UNITS	BREAKER	PHP 1,000.00	PHP 2,000.00
				TOTAL	PHP 19,000.00
				GRAND TOTAL	PHP 396,400.00

**Payable to King's Aire Ref & Aircon Services

Notes: All unit prices for floor mounted were less 1,500 as the customer said they will provide their own bracket for idu and odu.

Prepared By:	Approved
Ву:	
Resty G Mutuc	